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Name Date
12

Subtract. Show your work on the place value chart. Then record in vertical form.

1. 2 − 1.3

tenthsones hundredths

– 1.3
2.0

2. 1.2 − 0.05

ones tenths hundredths

– 0.0 5
1.2 0

3. 3.27 − 1.52

ones tenths hundredths

3.2 7
– 1.5 2

4. 2.3 − 1.41

ones tenths hundredths

– 1.4 1
2.3 0
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Subtract by using the standard algorithm.

5. 5.2 − 1.9 = 

5.2
– 1.9

6. 7.02 − 3.7 = 

7.0 2
– 3.7 0

7. 6.17 − 3.88 = 8. 5.5 − 2.55 = 

9. Ryan makes a mistake when finding 9.37 − 2.5. Consider Ryan’s work.

Ryan's Work

99..33 77

99.. 11 22
22..55--

a. What mistake does Ryan make?

b. Find 9.37 − 2.5.
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Use the Read–Draw–Write process to solve each problem.

10. Blake is choosing between two trails for a day hike. Trail A is 9.17 kilometers long. Trail B 
is 5.82 kilometers long. How much farther will Blake hike if he chooses trail A?

11. Kelly finishes a race in 19.2 seconds. Riley finishes the same race in 18.87 seconds. How many 
more seconds does it take Kelly to finish the race?
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12. The table shows the distances that three different frogs jumped.

Frog Distance Jumped
(meters)

A 1.87

B 3.34

C 1.08

How many more meters did frog B jump than frogs A and C combined?
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